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Please check whether you have got the right questlon paper
N.B: 1. .All Question are compulsory.
2. .Figures to the right indicate full marks.
3. The use of log tables/non programmable calculatoris ailowed Iy
4. Answer for use same questions as for as possible should be written together. -

Ql (a) State & prove time shifting property of Z - Transform,

(b) Test the stability of the LTI systems, whose mpulse:esponse a:c gmen ﬁs
i) h(t) = te®u(t)
ii) h(t) =t cos u(t) : T
(c) State and prove the linearity property of Laplace transfonn o

(d) Test the causality of the glven systems ,,'
$(0) =x(0) +! XOdA

Q2(a) Using Z transform, determme the:eeponse of theJ,T[ bsténd mthmpu;se 5

response h (1) = (0.5)"u (n), or afinput x (1) =(0:3)"u @).

(b) The causal system is represented b)f i‘he folloﬁg dlﬁ‘efénce et;ua {10) | ST
y(n) + 8 y(n-1) = x(n) +9 x(n-1) Find: h‘né s?saem‘transfer
function H () and the _mpulsc mstnSE i‘)“fihc sysicm W '

e Fourier transform (5 marks)
4 st< T Fmd the Fourier (5 marks)

Q-3 (a) List and state n:ummum 5 'propart:esbf‘con 10U |
(b) A periodic ﬁmctmn X (t) is deﬁned as
coefficient by, ntadt :
(c) Perform the: convolutlon of the gwen}:tgnals usmg ]:hp{ace mmsform (5 marks)
xi(t) = m(:) 3 <
Xa(t) =€ u(t) ; Iy
(d) Determine the initial value & f'mal vajlw for the glven; sngnal using initial and (5 marks)
final value theorems geoRet | 4

X(s)-"' 0 o .
S(S-l) i 3
Q4 (a - The mpulser&sponsc of an LTI aystem B (t} JZe“u (t).Find the response of (10 marks)
the system for the mput x(t) 2e s‘u(t), using Founer transform.

s

(b) Find the inverse I:aplace transfonn of A (10 marks)
K(s) = . o ifthe ROC is
(S+2Xi+4} oy
A -2>Re{s};> 4

Cdi)o - Refs)y<Ta
i) Re{s}>-2

Q-5 (a) The transfer ﬁmchon ofan LTIsystemis H(z)= Z (10 marks)
5 (Z-2)(Z+3)
AT Determme the 1mpu1$e response :
(b) '_J’indX(ﬂ) 1f X(ej'")— oy (10 marks)
; “1-0.5¢7

Q6 (a) . Detcnmne the response of LTI system governed by the difference equation, y (10 marks)
' = (n)=0.5y (n-1)=x (n), for input x (n) = 5" u (n), and initial condition y (-1) = 2.

®) Usmg Laplace transform determine the complete response of the system (10 marks)
~+ . described by the equation:
c!zy(t)i’dt2 +0.2y(t)y/dt + 0.8y(t) = dx(t)/dt ; y(0) = 0 ; [dy(t)/dt] = 1 for t=0 for the
mput x(t)=e? u(t).

4

57629 0 ¢ Page 10f 1
OFFEED686C8F563E3752B909C28777EB .




